E}fremﬂm ( E -—5 Jo. This gquestion has two blanks, each (d) written, secreted
_gbfmm{' mdfa:aﬂng that something has been omitted. Choose

f;he set of Wr.:rrds far each bfank that best fils the meaning T
"-:-:-;:'?ﬂf .tbe se&fmce 35 a wf}ﬂfe " 3. The organisation __ s da}' meals tﬂ-

- {e) segmented amounted

{}HE‘: mﬂhcm schml Chlldl‘f:ﬂ

:_.-.,_3_-_.__.:__.{3) pmwﬁes over .{b) supplies, equai
'--F-;;_:::;; ._ (d) asr;nbes lunltcd.{;j_

faraﬂsm expﬁrts have SIS samples from the

whether mere are Hﬂ}‘ traces of ;m

. (a_) plcked .Ensure (b) }.Ei fi "ifﬂ flfy ...... . :: i (e}dIStrlbutES, Hmﬂunt Gy : S S
marked gathe:r (d) lrft ascertam 4 - ﬂf the wmrk cm the new cuile ges wﬂla_.

{e _"releaaeci detectmn
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L LG N EaTTg. . . ! ;
S e s it L nhid 1)
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:‘"""j_f';::_;greater sensﬁwrty tn swe&t:ff__

" {a) fﬂuﬂd assmmtedz
{b) estabhshed acmunted

. . ams accumulate 5-_;;'::(&) Surpa&smg, llmltulg
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the big screen in a
' of

{&} migma{es ﬁiims (b} blends, genres

Q??} _ ;ﬁ?ﬂiﬁ: issues {d) feamring, dgpm
(e} celebrates, visual |

_ Eﬁ?&mm {6-15): Read rhe following passage care-
5%&’?}; and answer the questions, Certain words/phrases are

wiile answering some
ﬁf’ the guestions.

- The Arctic is the canary in ¢ global-warming.
Canaries expired in contact with gases such as carbon
monoxide and methane, warning miners to leave the area.
The Arctic sea is similarly sensitive to changes which
rmght otherwise not be obvious as the Farth warms up
1 response to more of another gas, carbon dioxide, The
area of the Arctic Ocean covered by ice at the height of
sutimer has been shrinking by 11% a decade for the past
35 years. Rut the details are nbsaurenbecause gathering
data in the Arctic Ocean is hard. But, 3 systematic
approach to that gathering has begun. The Marginal Ice
Zong (MIZ) programme, paid for by the United States
Navy, has laid dozens of devices. These measure the
thickness of the icy layer, and also the salinity,
iﬂmpf:r&ture OXYygen concentration, organic-matter
composition and movement of the seawater beneath. With

| iu;:]a, the MIZ’s researchers with their elaborate network

ﬂf sensors and instrument-laden robots known as Seagliders
will gather the largest quantity of data yet collected on

the seasonal melting of the Arctic ice sheet and thus find

out ﬂmﬂy what song the Arctic canary is singing.

Mﬂmmﬂng sea ice is a fairly recent activity. It -

beg&n seriously in the 1950s, from aboard nuclear
submarines. Satellite monitoring started in 1979. Since

“then the summer sea ice has shrunk by 12% a decade.

That is consistent with the trend predicted bjf climate-

- change models over the past three decades, an indication
ﬁiat ﬂlﬂﬂ mathématical simulations of global warming

'_1:; Sﬁiﬁﬁt}gts have constructed a record of

2 ATCHC past su 'ﬂﬁt that the summer sea ice is at its
lowest iﬂm&i fﬂf at 1&&.3{ 2,000 years.. Six of the hottest
years o record- gﬁzﬁg l::fas?,k to 1880- have occurred since
2004. Aﬂﬂﬁfﬁjﬁ”f {o-the }:ﬁtergﬁwmanm} Panel on
Climate Change :'f_-?;:_i’i’ﬁ{; fi*-"}_,_-:f&i@ last. time the polar regions
were szgmﬁ{:aﬂﬂy wm w ﬁhﬂut 125 000 years ago.

shift in the early 1990s in the Arctic’s prevailing winds
known as the Arctic Oscillation. This moved a 1ot of ice
into the Atlantic and has not been replaced.

ﬁ%ﬁtiﬁﬂ has recently also been focused on lesser.
known greenhouse gases, including ozone and methane
and on soot from diesel exhaust and forest fires. These
are known as “short-lived climate forcers”. Though they
linger in the atmosphere for a relatively short time, they
can have a powerful greenhouse effect. Seot, or black
carbon, stays in the atmosphere for an average of six
days, whereas carbon dioxide lasts for centuries, even
millennia, Yet black carbon has an unusually potent

warming effect in the snowy Arctic because the dark
soot, after being rained or snowed omnto bright snow or
ice, continues o absorb heat. The UN’s Environment

programme estimates that reducing black carbon and
methane emission could cut Arctic warming by two-
thirds over the next three decades. That would not prevent
the disappearance of the summer sea ice, but if might
delay it by a decade or two.
6. What do the statistics regarding the Arctic climate
cited in the passage mndicate?
(a) This year is the hottest in 125,000 vears.
(b) Of late temperatures have been rising.
(¢} Arctic temperatures have remained stable for
about two decades.
(@ The Arctic is heating up ten times more quickly
than nm{h&maticians predicted.
(E-'} There is not much change in Arctic
_ -temperatures. over the millennia.
i %&1 15 ths auth:}r $ view regarding the MIZ's
{a} He is ﬁiﬂaaﬂsﬁaﬁ as it is funded by only one
- country and its ﬁ}}dmgs are likely to be biased.

(b) He wishes it t0 be successful as it will provide
valuable mfamt:ﬁ}n about climate ﬂil&ﬂgﬁ

(¢) It is too costly a venture and these resources
si‘:tm:ld be. Hli?ﬁﬁiﬁd eis&w}wra

(@ It utilises cutting eﬁgﬂ technology and will be
very uaﬂﬁﬁ for military ﬁpﬁm}:}eﬂs in the region.

(e) i)ﬁmr ‘th,aﬂ ihﬁﬂ& gw&n aﬁ ‘options.

8 Which of the f{}i}ﬂwmg f:ﬁfi he aazf:i abeu‘i short
N _'iw&ﬂ ﬁlﬁmﬂa fﬂmﬁrﬂ‘?

ippening faste than; anyone .
- Eﬂiﬁmtﬁi fhe r@«?ﬁfﬂgﬂ .
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- () Arctic ice is shifting not melting according to
“ the latest scientific evidence. '

__.f:i ﬂ-ﬁ:ssﬁ the word -

in the passage.
{a} honestly

W) RIESE are responsible fop : P
of Arctic Oscij © for delaying the process nly (A) & (B)

aﬂﬁﬁ

(¢} impartiafly

--(e}-faveurably

Choose the

word which is |
_ site in me
the word i Aie o

‘Hard' given in holg as used in the passage.
{a} delicate (b} undemanding

{c} sensitive (d) flexibie

{e} durable

%?}1&2 does the phrase ‘The ﬁrcﬁg is the canary in
giobal-warming’ conveys?

(&) The Arctic has a varied bird life yet to be
discavered.

(b} Global warming has been responsible for the
extinction of canaries in the Arctic.

(c) Warm temperatures Ezave made it explore the
Arctic. |

(d} Canaries Eurprisiﬂgiy have proved very useful
in exploring the Arciic,

(e} The Arctic is sensitive to changes in climate.

. Which of the following is TRUE 113. the context of
- .. the passage?

{a) The US has made efforts to study the Arctic.

‘(b) International bodies are not taking interest in

LY

studying climate change.

- ﬁ}ﬁfﬁaﬁﬁﬁ exploration in ﬂle fkrf:.:tm is posing a

danger to ﬂ:s mm‘ma life.

{ﬁ} None of the given: 3&%}3}%& 15 true, in the

context of the passage.

.':.;Wh}ﬁ& of the following factor *3; arﬂ {a} mf:mr{%}
%’a ﬁﬂvﬂ ﬁﬂi};ﬁ;wﬂ ﬂ.aia gathﬁtrxﬂg ﬂi Ehﬂ mﬁm‘?

{e} None of the given options (A), (B) & (O)

14.  What does the anthor suggest regarding monitoring
of sea ice?

(A) It is too time consuming and therefore of not
much use.

{E} It provides an exaggerated picture of giobal
warming and should be done away with,

(C) It has provided insight into climafe patterns
both past and future.

(a) Only (A)

(b) Only (B)

{¢) Only (C)

d} All (A), (B) & (C)

{&) None of the given options {((A), (B) & {(C)

15. Which of the following is the central idea of the

passage? |

(a} Efforts to understand the Arctic are 1mportant
as it 15 an indicator of global warming.

(b} Scientists need to co-operate among themselves
to better understand global warming.

(c) The Arctic is proof that Climste change 18 a
cycle that scientists are vanecessarily alarmed.

(d) Warmer Arctic temperatures will provide
scientists and explorers wonderful opportunities,

Directions (16-24): Which of the phrases given against |
the sentence should replace the word/phrase given in bold |
in the sentence fo make it grammatically correct? If the
sentence is correct as it is given and no correction is re-
guired, mark ‘No correction required’ as the anSWer.

16. ﬁsfmﬂs}m&zs dataﬁmﬂad that the planet spin faster
than any other object in our solar system, with a
rotational velocity of about 36,000 miles ﬁﬁi hﬁui’

@ ag.sms. fast then
{b} syaﬁﬂlﬁg faster thes}
: _{f.:} spins faBZﬁ:r than =~
| @ spins very faster ﬂfmﬂ
- {e) No ﬂﬁi‘l‘fﬁ:ﬁ{%ﬂ rei;;l.me}ﬁ

= Whﬁﬁ fﬁﬁmﬁzzt, the ibﬁfiﬂﬁ- is hﬁﬁﬁ}i &ﬂ mﬁﬁﬁ%
'.""T{iiﬁﬁ ‘there is much:to be :?’f.i
- ﬂ:lat ﬂﬁﬂﬁi at iﬁllﬂ?ﬁﬁﬁﬁ m
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21.

{c) very low power

The latest device developed by IBM increases speed
of the internet by 200 Gigabits per second at very

lowly power,

(a) every low power (b) very lower power

(d} powered very low
(¢) No correction required

China’s economy grew at its lowest pace in a

quarter of a century last year, raised expectations

of a further devaluation of the Yuan.
(a} rismg expectation (b) raising expectations
() expectations rose (d) expecting rise
(e} No correction required

The fact that shopping is now happening across

various channels is only adds to the complexity of
the business.

(a) only adding to
() only adding up
{e) No correction required

(b} adding up to only
(d) just adds to

As global growth slows down, people look towards

_innovation in technology to get it back on track.

(a) backed on track
(¢) tracking back
(e) No correction requirﬁd

() backup with tracks
d) tracing back with

We operates in business and societal environments

that are complex, dynamic and uncertain.
(a) operating on (b) operates on

(c) operating for (d) operate in

(e) No correction required

According to research, eﬂnucaﬁy diverse teams could

been less productive than more homogeneous teams.

®) could least
(d) can be less

(a) can being least
(c) can be low
(e) No correction required

‘What happening is to the world of innovation

these days?’ asked the worried CEO.

(a) What is happening

(v) What is happened
(c) Where happening is
(dy What are happening
() No correction required

anest over the Eﬂﬂfﬁt meeting. *
= e
! (b) express, their angst
(d) express.angst on

Directions (26-35): Read this senience [0 find our

whether there s any grammatical error 1 it. The error,

if any, will be in one part of the SeOiCHc. Mark the
part with the error as your aaswer. If there Is 1o ﬁf‘fﬂf‘,k
mark ‘No error’ as your answer. (lgnore the errors of

puncruation, if any)

26.

Children love sweets,/ but have you ever wondered/
why some children demands/ more sugary ireais

than others?

(a) Children love sweels,

(b) but have you ever wondered

(c) why some children demands

(d) more sugary treats than others?

(e} No error

The actor, who/ arrived on only ten minuies/ before
the actress,/ left before the event ended.

(a) The actor, who

(b) arrived on only ten minutes

(¢) before the actress,

(@) left before the event ended.

(¢) No error

It is a little lately to play ‘Secret Santa’/ with
your co-workers, but that is not fo say/ that you
cannot still give them a surprise gift/ and make
their day. |

(@ It 1s a little lately to play ‘Secret Santa’

(b) with your Eﬂ-WﬂrkﬁrSg but that is not to say
(c) that you cannot still give them a surprise gift
(d) and make their day.

(& No eITor

The actor was phﬂtﬂgraphedf while dming at/ a

five star restaurant and was/ quite annoyed on it.

(2) The actor was photographed

(b) while dining at

(ﬂ} a five star restaurant and was

(d) quite annoyed on it,

(€) No error b

Drinking herbal tea/ can help you/ calm down
during/ a stressful time. |

(a) Drinking herbal tea  (b) can help you

(© calm down during  (d) a stressful time.
(¢) No error e
The initial calls/ of emergency/ sent {
oA fizzy. -




32 T*’zﬂ {}‘%'E?"EEE“EEE?"; Sought/ an early release of funds/ (1) That s why the highest wasie of wr%s Plﬁsmg..léf
" Tuction of/ five new medical frutts and vegeiables occurs in iﬁdia o
(£) I terms of overall food waste- agfiﬂuit’umff

produce, pouliry and milk- India ranks seventh,

with the Russian Federation at the is:ap s:;f" ‘ihﬁ': hsi
: '_:"_3:;{% axg}edﬁing the construction of (F) Globally, one-third of the food g}f@ﬂu@eﬁ 13_':}:
"-'f"_-.?we new medica wasted, costing the world Eﬂﬂnﬂm}' abmﬂ i’w’é{}_-'._ "

&ﬂ -ﬁﬂi‘ly re%&aaa of funds

2dical colleges in the state billion, a report said,
i-_iN{?a L?E‘{?E'

36. Which of the following should E:}a ?hﬁ Sﬂﬂﬂﬁﬂ';.-;'ﬁ
crashed sentence after the rear aﬂgﬁmhnt‘?
@ A ) B
et e C o N (si} E*
- 'f(g} F _ - .
37, 3_"-'%{,11 of the f{}ﬂﬂwmg sh{}a}d E}e ﬂlﬂ f{}uﬂh semﬂnm
_E_:i:fiafif:i ﬁ:{e marraﬂﬂemf:ﬂt‘?
54 &g;ﬁatf:d t&&ahﬂrs f surmﬂne:ied thf: hﬂl’i‘iﬂﬂ @ff gﬁma {ﬂ} E - {} -
- ﬂf ﬂlﬁ ﬂﬂﬂ?ﬂ?ﬁi E demaﬂ(lm::rf reﬂfu}:aa zsatmﬂ {}f ﬂiﬂiif'- (E}
{ a} A gitfﬁ,ﬂ d iﬂ& f:hers . f' ::_ . .lwfter thf: I‘ﬁfi:{"f&ﬂgﬂmfkﬂ ;
(b} sun“mmded ﬂ:m‘-: h{imﬂﬁ {}1‘ _;' = (r:} f.? . o g
j’_ff:} Et}l‘ﬂﬂ af the Hnmstms de;mﬁding -

. ©F
'-.',__(;:t) r{:ﬂruiarzsaum} ef ﬂlftif‘ jﬂb& 39  Which of the fﬂﬂﬁwmg

. ' o T rearrangemen
35 ;'.:_' Wheﬂ the :aﬂtﬂr; Eﬂﬂlﬂ 10 hmw lhatf thﬁ director was a {ﬂ}ﬂ .-
- Shﬂﬂﬂﬂg at the SEIIEE %{u{im / he drﬁpped for a visit. @) .F

 (a) When ﬁlﬁ: .:mﬂr

_-:-.'(b} came I‘.{i Is:zm:rw that

 (© the dzractﬂr was shooting at ﬂIE Eﬂﬁiﬂ smdm,,:
(d) he {impped for a visit.
{e) No error -

Directions {3&«#‘?} }E‘W!ﬂﬂgﬁf i
sentences (ﬁ}# :E} O 1 1(

33 E}i‘i Ehﬁ ﬂﬂ*?ﬂﬁi off the ill-fate plane/ that

. __::;-i_._:;_'}mﬂl& in asf a East ri'iiﬂﬁte rﬁplaﬁemﬁﬂ*‘?
f’;-‘a} ?}HE tha €0o- pﬁﬂt of

' (i,} ﬂze_iii f&EE plape

5 (g} ihﬂtl_{:rashe{i_{:g}mg iﬂ ﬁg

{d} a *15& mmuz&' rﬁpia{:&m&nﬁ

. {&} Nﬁ E:rr{}'f -'5-':-:'-5




Satur o

i ;;jﬁﬁi, or at least the most lucrative customers have 44, (a) there (b) happer

iy Y been (455, This is true in case of mobile services, (¢} most {d) cease

Xample, where penetration has aiready reached 70 |

b3 3 : |

percen .-Th;zs means that 10 (46) growth and profitability, () Hove

~ompanies will have 1o look at new ways to excite 45~ (@) associated ®)

ﬂu&t&:&t& Ergo innovation is on the corporate agenda. (c} tapped (@) knocked
ut the bigger reason for innovation is India’s (47 ) {e} banked

social challenges, With the second-lar 1071
' gest population in ; rove
the world, the world’s largest number of poor people, a e -

literacy rate of only 70 percent, inadequate healthcare, 9 e 9
and poor nutrition levels, India’s economic and geopolitical (e) verify

aspirations will have meaning (48) if we can raise our 47. {(a) complex (b) trivial
performance on social indicators rapidly, Given the : © . f&r _

couniry's resource (49) and its poor track record in (50)
these issues, there is a crying need for innovation. (e) stuffed

41. (a) cross (b) by 43, {a) just (b) only
(c} for , (@ off | (c) along (@ lonely
(¢) though | (e) apart

42. (a) together | (b) well 49 (@) ful (b) captures

(e} preat ) poorly (¢) driven (d) constraints
(e} sirong (&) scarce

43. (a) whether | (by neither 50. (a) looking (b) ﬁﬁﬂﬁip’i
(C) Instead (d) giving _ | {c) response (d) addressing
(e} condition - (e) forward | |

mrnovabie

contradict

51. 2 men and 3 boys can do a piece of work in 10 davs  Percentage of &mpiﬂyeﬁs in different departments

- while 3 men and 2 boys can do the same work in of branch "LMN" in the year 2014 :
& days, In how many-dﬂys can 2 men and 1 boy do ' '.’g;;ﬁ

Total number of employe
the Wﬂ:‘k? R Lm?lﬁ?m

T

- {ay gﬁ_._dayﬂ - (b) 125 days

| 1.5-."::.:'-*" {é} > 115 {i&}fﬂ |

i

i e

“Cfouryears ioa scheme offering 9% plassimple -

o

R

T
iR

e
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......



R
@&
. 55

o _-depamnent E was —

- percent less 'E"zaﬂ | i

In department ¢ (e
o muimber of f‘*ﬁl&lﬁ erm

{Q} 1{}
_.;_ (e} 16
__;g_;a' 2014,

taken out of the jar, what is the final quantity of
milk left in the jar?

{a) 38.4 lirs
{c} 36 lirs
(e} 36.5 ltrs

Directions(61-66): Refer to the graph and answer the
given guestion,

Diepartm

@ 0% by 44 lrs

(dy 28.6 lirs

L Teéspective ratio between the
Was 5 1 6. Th mployees and maje employees
ool CIC were equal number of unmarried

g
unmarried females in department C. If cities-A and B in five different months in the

the respect i
pective raiio betwgen married females and year 2003, Data are given in hundreds

Marri -
zad_ males was 4 . 5, what is the number of 350
unmarried femajes?

(a} 20

Data regarding number of tourists in two

Lhd
25
A

(0)
@ 12

.
-

i
g e :
s

th O
e e e i e B «

the number of female emplovees in

" of the t{}tﬁi ﬁumh.er of

i"_:ﬁ.:_-;:':_:_:.:_;Empiﬂ}?EE:S in the same department. If the ﬂumber

ﬂi fﬂﬂialﬂ Efﬂpli}yﬁﬁﬂ » {iEpﬁI‘!}'ﬂEﬂt I} w&s 1 f} 1{353 : :.. .
ﬁl&ﬂ that in ‘Department E, what is the numbﬁr ﬂf
__:;_:__-}__;f-".-Zj'ff_._maie empmaﬁs 111 I}ﬁpartmant I}*? ' |
;i*{c} %
-"tS?ﬁfn

(b} 31
{d} 2{}

(b} 37
(ﬁ} 109

() 565

(© 504 @ 28

(&) 51 6

Four jyearﬂ agﬁ the rﬁﬂpﬂctﬁ"ﬂ ratio between the

age of Ram and that of Sonu, was 4 : 9 Tina is ten
years older to Ram and ten years younger to Sonu.

What is Tina’s present age?

(a) 40 yﬁars (b) 36 years
{c) 30 years (d) Eﬁ" }fﬁﬂr_ﬁ
(e) 42 years

A jar has 60 ltrs nilk, From thie jat, 1:2 14:3:45 ﬁi_ﬁliﬂi__
%%?ﬁﬂamw&ﬂﬁwwhym
water,

f._? Nnmher ;.'_'éf tourists

5 ﬁ?

Aok | My ||

2|

éﬂﬁfiﬁﬂ

150 |

0

TiﬁﬁiizAizOff;ﬁ2§ﬂf"fﬁ@ﬁf

(@) 57,500

1¥ 12 lirs of the ﬂﬂ?ﬂ? ;@m

Nmnber s:;f Eﬁurrsts in czty B in Aprﬁ are what

parceni mﬂre than that in {:it}' A in the same
_Lﬁﬁkﬁi;i;ﬂﬂﬂﬁh? = -

. {a) 25%
_ __._Whaﬁ is ihe averaﬁe IHHH]E)EE‘ Df ﬁmpiﬂyEES 111..:_'-;:'_ .
f-j-E}epartments C E a:nﬁ F’? -
(@8 -

{c} ?‘F

:-“Wh&t is ihe Cﬂﬂﬂ'&] angiﬂ c:ﬂrrespﬂndmg to e
.' _ﬂuﬂﬁjﬁf of emp}ayees i Department F? (in Deﬂrees}

- (a) 55.9

{b} 35%
{d} 30%

2. In the month of December of, the previous year

~ (2004), the total numbers of tourists in both the

~ cities fogether were 259 more than that in }&m:tary
2005, What was the number of tﬁumt:«, 1& i:n}th the .

cities together in ﬁﬁ:ﬂﬂmhef 20047,

(t:.} ﬁw‘;ﬁ}_

(©) 60,500

......

Ay et we et SR St



> e IR ve ratio between the total number
of fourists in city A in April and May together and
hat in cily B in the same mondhs together?

W 719 ® 7:12
952 12 @ 8: 13
&)y 7:8

The number of tourists in city B in March is what
percent less fnan that in the same city in May?

(@) 25% B 0%
o i

¢y 18— % =

{c} P d 15 : %,

{ 1{}3%
(] 5

Directions(67-71): What approximate value will come

i place of question mark (7) in the given question? { You
are pot expected to calculate the exacr valuge)

67. 7 = 1346.92 + 46.94 + 99.9 - 6.98
(@) 121 (h) 441
(c) 1024 dy 49
{e) 196
68. 32.012 X 5125 x 33.99 = 2 X 16.97) = 2
@ 3 (b) 4
© 9 @ 10
@ 6 -
(14.99% of 4799.995) + 7 = (170% of 7.111)
(@ 150 ® 25
FORIE @ 50
® 5
0, o5 0f239=7 = (L6 X 0.499)
e, . ®) 300
e . - @ 1o

L]

71

73

74.

{c) Rs. 14,650

1296.002 + 8.996 + 9.98 + 39.4 = 7

(a) &0 ) 8
() 4 @ 120
(&) 40

In the year 2013, the population of a village A was
309 more than the populaiion of village B. The
population of village A in 314 increased by 2{_}%
as compared to the previous yeat. If the population
of Village A in 2014 was 7176, what wasg the
population of village B in 20137

(a) 4000 by SO
{c} 48 (@) 4600
(e 5200 '

Tom gave 20% of a certain amount of money o
Ali. From the money Ali received, he Spﬁﬂft 25%
on school fees and 35% on buying school uniform.

‘After the mentioned expenses, Ali had Rs. 2800

rerpaining with him. How much money did Tom
has initially?

(a) Rs. 21,000 & Rs. 35,000
(©) Rs. 30,000 (@ Rs. 27,000
(e) Rs, 28,000 ;

A and B started a busjness with an investment of
Rs. 3500 and Rs. 2500 respectively. After 4 months
C joined with Rs. 6000. If the difference between

 (U’s share and B’s share in the annual profit was

Rs. 1977, what was the total annual profit?
(a) Rs. 15,620 {b) Rs. 16,240
@ Rs. 12,770

(3] RS 13,180
Directions(75-80): Study the rable and answer the

given quesiion.

- Data regarding Hﬂmhﬁr ﬁf hﬁﬂkaﬁﬂlﬁ n ﬂiﬁmr hard
bounds or paperback editions and also the.categories of

books sold in fiction and mon-fiction category by four

different shops, in a particular month. (Febru:




75,'j_;-NumbEf of hard bound edifions sold by shop C is

~ what percent less than that sold b
(a} Q’U% A it -

s il (b) 50%
. D% @ 70%
. (o) 80%
76. Number of non-fictions sold by shop B is what
‘percent of number of non-fictions sold by shop A?
@ 925 (b) 64.75 |
--.'-=_j.,j.'(c} 50 (d) 40
{;'-3} &3

T}' Total number of books sold by shop B is what
- ",:.-,'.perceni more than that sold by shop D?

{&) ' 15 E % by 25%
| | (;;)’-_:3::}% @ 10%
. . fﬂ} 11 = %

TSWhat is the average number of fictions sold by
__--_"_shﬂps A ann:i B :
| --'-'.-'_(a} 990

- {b} "?2{_1':
- (0 880 {ci} 11@3
. (&) R0

B In March 2015 ﬂle nurﬂber of paperback edition
sald b},f shﬂp D was ZG% more than the same sold
by the same shop in the previous month. The number
= of pap&rback e{htmns sold in March 2015 by sh{}p
D constituted 50% of the total number of books
sold by shﬂp D in March 2015. What was the total
number of books 5{}1{1 m Mamh 2015 b},r Shﬂ;:a El’?

(a) 1860 () 1240
- (0} 1868 (d) 16[}0 |
{e) 1620 - '

8). What is the respective i*atici_i between the number of
non-fictions sold by shop C and number of non-
fictions sold by shop D? -

7 9 b 8:9
(ch 6 7 d 8 :11
© 3.5

81. A and B are two stations 390 km apart. A train
starts from A at 10 a.m. and travels towards B at
65 kmph. Another train starts from B at 11 a.m.
and travels towards A at 35 kmph. At what time do

they meet!

{a) 12 : 30 pm (b) . 01 : 50 pm
{c) 01 : 00 pm (dy 02:15pm
() 01:30pm

82. Two mobile phones were purchased at the same
price. One vas sold at a ?i‘f}ﬁi of 30% and the

second was sold ata price wﬁﬁ;ﬁ ﬁraﬁ ﬁs E&ﬂﬁ less 7

rice at wihich the first was sold. If the -

raed by Eﬁﬁiﬂg ﬁfﬁ% mhﬁa

-j 3}6:' I o

87 I 4x° +

88. I :&%83 }ﬁ

phones was 5%, what was the cost price of one
mobile phone?

(a) Rs. ROOO (hy Rs. 5000
(¢} Rs. 6000 (dy Rs. 4500
{e} Rs. 5500

Directions(83-88): In this quesdon rwo equations
numbered [ and I are given. You have to solve both the
equations and mark the appropriate option.

83. L 2% ~2Ix 4+ 52 =0

H, 2y* ~ ily + 12 = 0

@) x > y

b) x 2y

) xzy

d x <y

{e} Relationship between X and ¥ cannot b@ cietemmed
g4, I 3x2 - 13x + 14 ::_{}

II, 2y* = 5y 3 = 0"

(a) X > y

(b) x <y

€} x2y

({i} % < y T : :

(e} Relationship bﬁmreezl X ami y cajmnt bee detem}med |
85. I 4x* - 8x + des | |
I 4y2 - 153; 7 14 0 L
Dy
. Ox 2 f?’

. @ x =y _ o -
. Relarionship between};an{iy{:aﬂm{bedetﬂmed
9x + 9 = |
Lyt 2= {}

) x =y

b) xsy

) x2y

ddrx <y -

(€) Rﬂl&ﬁomthbﬁweeﬂxanéymbedﬂﬁrmeﬁ

19x + 22 = ()

[l 2v + Ly 15 = ()

a) x > ¥

(d} X ‘:: }f e T e e
{€) Reiatmn&hip hﬂtwﬁﬁﬂ E _anﬁ .:f:y ﬁamﬂ- e

.....

{}

I y? + 3y % 2 e
(a} x> }; .

mmmmm



Directions(89-94); What will come in Place of gues-
tion mark (7) in the given number series?
89, 606 201 66 21 6 9

(a) 0.3 &y 2
€} 5 @ 1
ey 3

K. 120 24 6 7 7 1
@. 5 B 1.5
{c) 2 d 2.5
{e} |

9. R 15 24 38 48 9
(a) &5 b 63
) &8 {dy 96
(e} 62

9. 2 4 17 48 240 D
(a) 960 (by 1440
(c) 1080 (dy 1920
(&) 490 ’

SR 48 10 Ja 37 g5

{a) 158 (bhy 224
(©) 219 d) 192
(e) 127

9. 19 196 208 213228 7
(a) 35.7 | (b) 37.6
{c) 31.8 {d} 398
() 382 :

Directions (95-99): Each question given below con-
sists of a question and two statements numbered I and
- Ml grven below it. You have to decide whether the data
é provided in the statements are sufficient to answer the
' question. Read both the statements and Give answer-

(a) If the data in statement I alone is sufficient to

answer the question, while the data in statement
II alone is not sufficient to answer the question,
(b) 1If the data in statement I1 alone is sufficient to

answer the qmsﬁ:}n, while the dafa in statement

I alone is not Eufﬁﬂiﬁm‘ to answer the question.
(c) If the data either .in 'statement 1 alone or in
statement II alone is sufficient fo answer the

question.
(d) If the data given in both staternents I aud I

together are not &_ufﬁclem to answer the

question and e
(e) If the data in both statﬁxﬁants I aﬂﬁ I tﬂgethﬂr

are necessary fo answer ‘the question.
95, What is the curved surface ared; ﬁf ihe xight circular
. gylinder?
I Area of the base of the cylmﬁf:r 13 154:;&33
. Volume of the cylinder is 1232em?. . -
% “ What is the area of the circular fwi{i*‘f‘

99. How much money did Mr.

T Are of the smallest square in W?‘ﬁﬁj@giﬁ gi::fen
circular field can be inscribed 18 Oom?.

97. In how many days can ‘B’ alone complele the work?
| 1. A, B and C together cad complete the work iy

33{3&}'5 A and B together can complete the
13 i

4

work in 4? days, B and € together cap

&
complete it in ﬁ*:?: days.

I. A, Band C together can complete the piece of

work in 3% days, A and C together can

1
complete the work in 5-5 days.

G8. What was the initial quantity of mixture of juice

and water?

I Juice and water were in the ratio of & : 3
respectively in the mixture initially.

H. When 11 litres of mixture is taken out and 6
litres of juice is added, the ratio between juice
and water becomes 10 : 3 respectively.

Rajesh receive as

retirement funds?

I. Out of the fotal money received Mr. Rajesh
invested 51% in various schemes, gave 35% of
the total money received to his wife and
remaining money he spent on miscellaneous
items. :

. Out of the total’ money received, Mr. Rajesh
spent 5% on son’s waéﬁimg and gave 35% to
his wife. Out ﬂf the: remamamg he invested
28% in insurance policies, 22% in pension fund
scheme, 35% in share market and remaining
Rs, 4, ﬁﬂf}i}ﬁi}hesi}mwﬁfmmshnghehnuse

The speed of a boat'in still water is L5km/h and

the speed of- thg__wraaz_ is 3 L Th

travelled 132? ‘the “boat  from pe
downstream is 24km more th

100.

. RidArea of the largest square.| that can zgg ﬁiﬁﬂriﬁ eﬁ e ..:

1*;1 sﬁiﬁiﬁ given square field is. %ﬁﬂﬂm




1ot

o tton carefully and answer

i

172" 15 added 0 each add digit and *1" 1% subtracted
trom each even dIgit in the number 2368547 . which

of the following numbers will appear wice in the
new number thus formed?

{a) None
{c} Only |
{e) Oniy 2

(b
(d)

Both 3 and §
Both 5 and 7

Lirections (102- -106): Study the follows g mforns-
e given question.

Eight friends I, M. N, Q. p. Q. R and S are siuting

- around a square table in such a way that four of them sit
-"_'_da four corners while four sit in the middle of each of
_the four sides. The ones who sit in the middle of the
:';_':‘%l-d{:ﬁ face the centre while those who sit at the four
- corners face outside (i.e. opposite to the centre.)

103

106.

R sits third 1o the right of P. P sits on one of the
corners of the table.

-Only one person sits between O and R. M is one
of the immediate neighbours of 0

-':-N sits second 1o the right of M.

:- Only LhI'EE pfznpie S§it between M and L

S Sits m fhe 1mn1ediate raght ﬂf L o
.-'wm{ 15 thE p{}‘iltiﬂn c:af N wuh respect m L'?
S {a) Sﬁﬂﬂﬂd Iu the ught
~ (© Third to the left

- (&) Flf‘l’h to the rlght
'-Wh{} 51t5 thud to the laft {}f R‘?'
_ @1l

(b) I‘i‘
'{c)'-P | _(d}
(E} S

Hew m&n}f people sit hetween Rand S when cnunted

frﬂm the right of R?

@ Two &) For
(c) None (d Three
{e) Ope |

Who sits sec.ﬂnd io the left of O?
(@) L () N
¢ P @d R
€ S

Four of the following five are alike in a certain

way and so form a group. Whml; is the {}ﬂﬂ ma,t_

does not belong fo that g:mup‘? e
@ S (b) Q f

iy O
{1 A

W R

Dhrections (1G7-141): In these guesaons, (wo tree

staternends followed by two conclusions numbered T and

[f have been poven.
mes (0 be true even ey

Fou biave fo ke the given Stare-
SEenr for be af varianoe

from commoply known fices and then decrde which of

the conclusions fogeatly

tlfows fromr the stafernenis

disregarding conunoniy known faces.

Give answer

1(¥7.

{a) Only conclusion 118 rue
by Onlyv conclusion IE 15 true
{c) Boih conclusion [ and Ii are true
(dy Either conclusion I or if is true '_
(e} Neither conclusion I nor II is true

Siatﬂmenis* Ali fares are ]}!"IEE‘-; Snme pnces are
Costs. Ai] COsts are: iarlita ' -

-Eﬂnciuﬁiﬂn E Nn ﬂiﬂ: 18 @ tani'f

G&nclusmn ﬂ N{} u:a-st 15 a fdi"ﬂ‘

__{a} {}ﬂiy {:ﬂn{,luamn I !E {rue

.___-_{b) ea[h&r Cf}ﬂLlusmn I ::-;r ii 15 irue |

{e) both conclusion I aﬂ{i ZI m ﬂuf:

L "'T{E) {}:niy caﬂciusmn 11 is true

:-f;'_.__'j.:(ci} nezther {:ﬂn{':lusmﬂ I nor 11 is H'!.IE‘ -
{h} ‘Third to the rzght . O both conclusion 1 and 11 are true

(d} Secﬂﬂd m thﬁ EEﬂ | .';.::-;.@:."E_Statements ND pmﬂf is an evidence. NG proof is

_an indication.

Conclusion I All indications E}eing evidences is a

" possibility. | .

Cﬂuclusmn iI: No evlﬂenca IS an m{imatmn =

{a) Only conclusion I is true

(b) either conclusion I or i1 15 ti"ﬁﬁ G
© Only conclusion IL is trae -~ "
(d) neither conclusion I nor EI is t:ma |




110. Statements: Some tests are exams. No exam is a
challenge. >ome challenges are wins.

Eﬂﬂciﬁsmn I: No test is a win.
Conclusion II: Atleast some tests are wins,
(@) Only conclusion I is frue

(b) either conclusion I or I is true

{c) Only conclusion 11 is true

(d} neither conclusion I nor II is true

(¢} both conclusion I and II are true

statements: Some tests are exams, No exam is a
challenge. Some challenges are wins,

Conclusion I: No win is an exam.

Conclusion II: All tests can never be challenges.,
(@) Only conclusion I is true

(b} either conclusion I or 11 is true

_ (¢} Only conclusion II is true

111

(d) neither conclusion I nor 11 is true
{e) both conclusion I and 11 are true

Dhirections (112-113): Each of the guestions below
consists of a question and two statements numbered [
and Il given below It. You have to decide whether the
data provided in the statements are sufficient to an-
swer the question,

112. How many people are standing in a straight line
(Note: All are facing north)?

I. I stands third from the right end of the line. Q
stands to- the immediate left of J. Only two

people stand between Q and T. No pEISDH
. Stands to the lefi of T.

II. R stands third from the left end of the i'me‘ 0
18 one of the immediate neighbours of R. Only
two people stand between Q and S.

{a) The data either in statement I alone or statement

II alone are sufficient to answer the question.

(b) The data in both statements I and II are
necessary 1o answer the guestion.

{c) The data in statement [ alone are sufficient to
answer the question while the data in statement
IT are not sufficient to answer the question.

The data in statement I alone are sufficient fo
answer the guestion while the data in statement
I are not sufficient to answer the guestion,

{¢) The data in both statements I and I together
. are not sufficient to answer the question:

113 How far is Point X from Point J?7 G

I Point Q ig 2.5m to the west of Point J. Point
Pis 2. 5&1 to the South of Point . Point X is

(@

to the east of Point F such that Point F is the
midpoint of a Sm tine formed by joining points

M and X.

I Point R is Sm to the south of point Q. Pomnt Z
s ta the east of Point R. Point X is 2.5m w
the north of Point Z. Point J is 2. 5m to the easi

of Point Q.

(2) The data either in statement 1 alone or statemeny
I1 alone are sufficient to answel the question.

(b) The data in both statements 1 and [P are
necessary to answer the question,

(¢) The data in statement I alone are sufficient 1o
answer the question while the data in statement
il are not sufficient to answer the guestion.

(d) The data in statement 1} alone are sufficient to
answer the question while the data in staiement
[ are not sufficient to answer the guestion.

(¢) The data in both statements I and I together
are not sufficient to answer the question,

Directions (114-118): Study the following inforina-
tion to answer the given question.

Twelve people are siiting in two parallel rows
containing six people each in such a way that there is an
equal distance between adjacent persons. Inrow-1, M, N,
O, P, Q and R are seated (but not necessarity in the same
order) and all of them are facing south. In row-2, A, B,
C, D, E and F are seated (but not necessarily in {he same
order) and all of them are facing north. Thereiore, in the
given seating arrangement, each member seated in a row
faces another member of the other row,

B faces one who sits third to the right of {}

Only three people sit between Q and N.

R is neither an immediate neighbour of N nor Q.
One of the immediate neighbours of R faces F,

Only three penple sit between F and the one who
faces O.

A sits second to the left of the éne facing M.

C 18 not an immediate neighbour of B. N does not
face E.

114. Who amongst the following sits third to the left of
the person who faces D? |

(a) M by O
© R @ N
() P .

Which of the following is true wi
given information?

() D faces M.

b) M faces one of the Hﬂm&ﬁm&e neighbours of F.
(©) F siis a}za{;ﬁy bcm@ﬂn 15& aﬂeé D.
() None of the given ag:s%mﬂs is true

® Ois an zmm@ﬂzate ﬁﬁghh@ur of R.

- th respect to the




;: 11?}:‘;::;1%}: t];aiﬂii{:_j:;ugfm second to the right
) M b o
{c} R @ N
Loder P
._1_='}'j’+ Which of the tollowing sTOUDS of people represents
the people sitting g1 cxireme ends of both the rows?
@ M, Q,C, F ®) P,R, D E
“fc} N, R, E, F i OO0 A T©
- g U B AT
_ 118. Who amongst the following faces E?
@ Q b R
© O d)
) P
- This consists of an information and two statements

o numbered [ and I given below

L j__'_'__:'_dﬂcaiie which of the given statements weaken/s or

. surengthen /s the given information and demde the
e _:'appi ﬂpnate answer.

if. You have to

L _Ex‘afﬁrm&asﬂﬂ Examination CGI‘I‘II‘IHI[EE of mllege X

~ has remmmenﬂeﬁ thai the ﬂegdtwe mar!«:mg in the_'".___

exarﬂ ahﬂuid hE: remaved

- fi The Siudems t&nd to gwe ELHSWEI‘S ﬂlmply by o
- guessmg when EhElE 15 no ﬂegatwa marlung m

"'_:.i:he e*:am

o :-__bec:{}mes (ﬁfﬁcult m thﬁ absenc& ﬂf negdtwe . -

. . marking.

@
- _1ﬂfﬁrmatmn
(b)

statement II weakens the information.

statement 11 strengthens the information.

Eﬁth Statement [ aﬂd Statement I are neutrai
St&i&tﬂﬂﬁtﬁ |
Both Statement I and i} strmgihen the

iilfﬂi‘ﬁ"i&ﬂ{}ﬂ .

@

(e)

120, Reafi the given mfarmatiﬂn and answer the q:,iestmﬁ

‘Ever since we started involving our employees in
the key decision making process from the last year, the
productivity of our: employees has been 100% - statement
by HR manager of company D.

Which of the following statements can be mferfed
from the given statement? (An inference is something by

which you can Eﬂgiﬂaﬁ}f deduce st}ﬂ’iathlﬂg to be true

based on known pf‘f:miﬁﬂﬁ )

Both Statemeﬂt i and Statemem H weakeﬂ the- |
'Staiement 1 strengthens the mf{}rmanﬂn whﬂe |

Statements 1 weakens the information while

(@) Employees of Company D will always take
correct decisions in all the situations.

(b} Company D completely relies on its employees
tor all key decisions.
(¢) The productivity of employees of Company D
has always been satisfactory in the past.
(d) Involving employees in decision makiag process
is an effective method to motivate them.
(¢) Employees of company D have now become
competent enough to give valuable suggestions.
I21. Read the given information and answer the guestion.

Carmakers Kellbahn’s domestic sales have surged
as they have reported sales of 12,000 cars this December.

This nun}ber is more than double the number of cars sold

by them in the third quaﬁer {October-December): put
together last year.

Which of the i‘ﬂﬂﬂwmg can be mnaiuded fr{}m the'l

given statement?

{a) If 6(}{}{} H‘iﬂfﬁ cars were: smd in the ﬂurd qﬂaner

- of last year, the twc: numbers wauld hava'

5 'bemme equal
1
s De&ember fast year.

:..Addltiﬁﬂ of Internatmnal saies ﬁﬁures would
’__haafe ma{ie perfﬂmaﬂcﬂ of last quarter better.

:.'_If 6560 less cars were sold in December this
~ year, the number of cars sold would have been
Same as that in December last year.

Kelibahn definitely sold less than 12,000 cars
_ in November this year.

©

122 Study the gwen information carefully to answer the
- _questn:m given.

‘Kalikaar’
originated in city G of a country.

(A) ‘Kalikaar’ was an innovation of ‘Hﬂfﬂﬂh mhe _-
‘Kalikaar’ is Sﬁ}i vﬁzy nzmei}. }ﬂ

-'I-"

of City G. Though the tribe lost iis existes

long ago,

: ke e

(B) Only the authentic. Kaizkaaz

flowers of a specific ﬂﬁg_ﬁm_._w&a.}wﬂ

by ‘Hardali’ tribe:

Which of the fﬁiiﬂwxﬂg ;mﬁ *gg-a.
given mfﬁrmam}ﬂ‘? ' x

.....

Kellhahn deﬁmtely 5::311:1 ]ESE than 60&'.’] cars in

1§ a famous fabric threadwork that :_




(b) Some people not belonging to the tribe have
taken the ‘Kalikaar® work forward and managed
to keep fulfilling its demand.

(¢} During the existence of ‘Hardali’ {ribe,
“Kalikaar’ was the only means of their income.

{d) No city other than city G sells aathentic cloth
materials of ‘Kalikaar' threadwork.

(€} Since not many people belonged to the ‘Hardali’
tribe, others came to know about the tribe only
through its innovation of ‘Kalikaar’.

Directions (123-128): Study the given information
and answer the question.

Seven friends namely, PO, R §. T, Uand V visit

seven different cities namely, Berlin, Kabul, Jakarta,

Madrid, Chicago, Miami and Sydney, not necessarily in
the same order, starting from Monday to Sunday (of the
same week.)

Q visits a city on Wednesday. Only one person
visits between Q and the one who visits Madrid. T visits
immediately after the one who visits Madrid. Only four
people visit between T and the one who visits Sydney.
Only one person visits between the one who visits Sydney
and R. The one who visits Berlin visits immediately
before R. The one who visits Chicago visits on one of
the days before the one who visits Berlin but not on
Wednesday. More than three people visit between the
one who visits Chicago and P. Only two people visit
between S and the one who visits Miami. Only two
people visit between the one who visits Miami and the
one who visits Jakarta. V does not visit Berlin.

123. On which of the following days does S visit a city?

(3) Sunday (by Thursday
(c) Tuesday (d) Saturday
(e) Friday ‘

.124. As per the given arrangement R 1s related to the

one who visits Jakarta in a certain way and T is
related to the one who visits Miami in the same

way. To which of the following is V related fo in
the same way?

(a) The one who visits Kabul
(b) The one who visits Sydney.
(c) The one who visits Madrid
(@) The one who visits Berlin.

..., ke The one who visits Chicago f
125 Which of the following cities does P, vzs;ﬂ X
(a) Berlin (b) Jakartat!
{c} Sydney @ Madrida o,

(©) Miami

126. Which of the following is true about UY

(a) All the given statements are {ruc.

(by U visits Berlin.

(c) U visits a city on Saturday.

(d) Only three people visit between U and Q.
(e) U visits a city immediately before T.

Four of the following five are alike in a certal

way and thus form a group as per the give
arrangement, Which of the following does not belon

to that group?

(a) T - Thursday
(¢} Q -~ Wednesday
(e} V -~ Monday

127.

(by P - Sunday
(d) R - Friday

128. Who amongst the following visits Kabul?
(a) P (b) R
€ S d U
€ Q

Directions (129-133): Study the given imnformatiol
carefully 1o answer the given question.

Eight people- P, Q, R, S, W, X, Y and Z live on
eight different floors of a building but not necessarily in
the same order. The lowermost floor of the building is
pumbered one, the one above that i1s numbered two and
s0 on till the topmost floor is numbered eight.

P hives on an odd numbered floor below the floor
numbered six. Y hives immediately above P. Only three
people live between Y and W. there are as many people
petween W and R as are there between R and Y. 7 lives
on an odd numbered floor below Y but not on the floor
numbered three. Only one person lives between Q and

X. Q lives above X,

129. Who amongst the following lives on the floor
numbered three?

@ S ) W
© & @ P
© Q

130. As per the given arrangement, four of the following
five are alike in a certain way, and so form a

group. Which one of the following does not belong
to the group?

(a) W - Five b Y -I One
(€) S - Three @ Q - Four
(e) X - Bight )
131, gﬁfi{;;z;:ngst the fﬂiiﬁwmg %nrﬁs exactly between
(a) Only P : w@@}f Only W
© Both Z and R - ¢ {d) “No one
(¢) Both P and v L e

e A5 v



133. On 'éﬂﬁ{ﬂ*i of the folin

ive? wing floor numbers does R
@ Two b Six

{ﬂ; Bive (d) Seven

() Three S :

Directions (134-138); 1,
ment is given followed by two sets of conelusions aum-
bered I and IT. f hese siatements siow relationship _b&
tween aifferent elements. You have o assume the state-
ment o be true and then decide which of the given (wo
conclusions logically follo Ws from the given information
given in the Stalement. .

134. Statements: L< Q<R =S R >H>p
Conclusion I: P < §
Conclusion I1: L < P
(@) QOnly conclusion I is true
(b) Either conclusion I or II is true
{¢} Only conclusion II is true
(@ Neither conclusion I nor II is true
(¢) Both conclusion I and II are true
135. Statements: W 2 A = 52U < K; U
~ Conclusion I: K > W |
o Conelusion H: Y =W
" @ Only conclusion 1i§ true’ =
* @ Either conclusion I or II is true

Neither conclusion i

these questions, a state-

Conclusion H:; § < ]
{2} Only conclusion I is true

(D) Either conclusion I or II is true
(¢} Only conclusion 1I is true

(d) Neither conclusion I nor I is true
(e) Both conclusion I and II are frue

138,

Statements: S<P = Q < . Q<Y; P<L

Conclusion I: T 20

Conclusion II: S = Y

(a) Only conclusion I 1S true

(b) Either conclusion I or II is true

(¢) Only conclusion 11 is true _
(d) Neither conclusion I nor 11 is true

(¢} Both conclusion I and II are true
Directions (139-143): Read the following inform
tion carefully and answer the given question,
 When a word and number arrangement machine
given and given an input line of words and numbers,
rearranges them following a particular rule. The followin
15 an illustration of input and rearrangement:

(All the
Imput

Step 1 :

Step I1:

numbers are two-digit numbers.)

batfled 46 Iceberg 19 nation umreal 75 2
kidoey 63 abandon 94 Shesen
abandon baffled 46 iceberg },Qaﬂrﬁal
28 kidney' 63 94 npation oo

iceberg abandon baffled 46 .19 unre
28 63 94 nation kidney

__________
Pt

.........




142.

e

144,

lﬂ;i}_. Which of the following combinations represents the

141,

143,

first two and the last two elements in the step IV
of the given input?

(a) earlier, 86, vaccine, 71

(b) 39, absorb, earlier, 12

(¢} offense, 25, 12. absorb

(d) 25, malign, garage, 86

(e} 71, offense, garage, 12

In which step are the elements ‘absorh 86 25
vaccine’ found in the same order?

{a) Third

by Fourth

{c) Fifth

{(dy Sixth

(e) The given order of elements is not found in any
- Slep

Which elements come exactly between ‘25’ and

‘malign’ in step IH of the given input?

(a) Both ‘64 and ‘vaccine’

(b) Only ‘39’

(c) Both ‘86’ and earlier’

(d} Only ‘garage’

(e) Only ‘offense’

Which element 1s third to the left of the one which is

seventh from the left end in Step VI of the given input?

(a) offense b 71

{c) malign (d) earlier

(€) 25 '

Read the given information and answer the question.

School M, which has always been among the winning

schools in interschool sports competitions has sent only 5
participants for the interschool competitions to be held
this year. More participants were expected from the school
as last vear out of its 19 participants 12 won gold medal
while others won silver and bronze medals.

Which of the following may not be a reason for the

decrease in number of participants for interschool sports
competition from School M?

% g i b
A Ve L

(2) Pa.rem;s of students studying in school M are
ﬁiﬁ@iliing to send their children for the
_interschool sports competition this year.
Most coaches have resigned from school M
this year as they got a much better offer from
school D, and school M has not found a good
replacement yet. |
(C) "'fxii:}st_parents of students smd}fing__ ig};schﬂai M
 were reluctant to send their children for
" interschool sports competition this year as the
aﬂéﬂmm{}q:iatiﬂﬂﬂ provided last year were

P, Il T e [ |

(b)

(d) The sponsors of school M have reduced the
funding of the school by half this year

(e) Two-third students, out of those who went to
the interschool competition last year, either
failed, or scored very low in the final exam
and the school did not consider giving them
grace marks based on sports performance.

Directions (145-149): Study the given Informaion

carefully to answer the given question:

145.

146.

147,

148.

149.

150.

In a certain code language,

‘gloves were found there” is written as "vg Xa z¢ co’
‘two pairs of gloves’ is writien as ‘sh yc 11 xa’
‘found two new friends’ is written as ‘wd vg nu sh’
‘all packets were new’ is wrilten as "om €O nu gk’
(All codes are two letter codes only)

What does the code ‘ti” stand for in the given code

language?

(a} either ‘two’ or ‘new’

{b) were ¢y gloves
(d) either ‘of’ or ‘pairs’ (e} two

What will be the code for ‘found’ in the given code

language?

(@) ze (b) wd
(c) sh (@ vg
€} vg

What 1s the code for ‘were’ in the given code
language?

(@) co {ﬁ) ze .
€) gk (d) om
(e) 1

What will be the possible code for ‘new writer
gloves’ in the given code lariguage?

(a) xa nu dy () xadyvg
{c) ze xa wd - (d) ze sh om
(¢) nu ti xa '

In the given code language, if ‘blue’ is coded as
‘al’, then how will “all blue packets’ be coded as?

(@) nu vg af (b) co gk om
{c) af co nu @ af om gk
{e) om af co

How many such pairs of letters are there in the
word ‘SHARPLY’, each of which has as many
letters between them in the word (in both forward
and b-aeimrm*d directions), as there are hetween
them in the English alphabetical series? |
(a) None - e ). One

@) More than t
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